37131

Ne
« 3
«reorpagus» «reomeTpus»
a b )
' a = 6378245 s
b = 6356863
4
—~7IR

r
4—>|<r'1>4=—nR?: Rl=a2: R=V\J_crh:

R = 6371107,9 R = 6371,1

’

C = 2uR = 2-1] 415926 +6371,1 = 40030,801

(Il

360- , 1°- 1
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C /360 = 111,19666 » 1111

LW W -111,1 @
) [0} ! :

' (=39,9°

: @
d=399-111,1 =4432,89

A
.2
Alpx 1) B(d, ; A)
;) B{p ; A),
d=ypr-( \«1111 ,
, ' , d = \(px+(pr)* 111,1
, M (G;A, )
N\O; ) , d=\2 —§,j-111,1
, 2
A.B C
) In0{ 1 *
AB,AC BC )
ABC  ABC
0
ABC
. " S=R (A+B+C-Tr)
(2) A0\ B~(i 0 CO
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ABC-
BO, CO
AB AC
M
AOAN AN =90°
AOAM ZOAM = 90°
AMN MON
MN2= AM2+ AN2- 2AM- ANcosZMAN)
NKP” "’ | s >=>20M -ONcosZM ON=
MN-=0OM- +ON -20M -O NcosZMON)
=OM2-AM2+ON2-AN2+2AN-AMcosZM AN
OV2AM2=-0OA’, ON2AN2-0A2 Z MAN™A\ Z MON-=a,
FOM-ONcosa = 20N2+ 2AN AMcosA
2+OM *ON - cosa = o AN
| ON OM ON OM
OA OA AN ., AM i
= 0080, - = COSCKKIT-= 1 0, =z-mmv = sinc :
ON oM ON oM
cosa = cos/)cost + sin/>sinccos/1,
A=90°,
coso = cos/)cosc ,
2.
2
'C(43° .,395° )
r@1e  .,395° J( 5)
. | 2
ATC
s A
( .5)
(3) ,
TC ,
3)

7

*COS A,

3):

AO.
A4):

®



c=90°-41°=49° b=090°- 43°=47°
A=41°-39,5°=15°

cos6 = 0,68199840]> | n .
=> cosb -cose = 0,447431124
cose = 0,65605907)

cos™ = 0,9996573 ssinescos” = 0,55177051
©)) :

Ccosa = 0,44743 124+ 0,55 177051 = 0,99920175

a = arccos0,99920175 = 2,2895021°

, TC- , 1) !
O 22895021 « 111,1 £ '=254,36368

1 : 500 000, 1 =5\
49 - ,
=49 5 = 245//l/:
' 3,7%:
. 400
"(2) . = R~(-i+B+C-7I).
AB.C '
1,2 3
, , A=B=—, (2
4
2 ,oom :
’ InUbliiuj
1 :
3 "A<p/, A, Bg>2. ) C(hs. ) ( .6}

B



AAPB- PA=9(Y<pl PB=90>(p2, = -

3) , ABC
AB :
c- AC=b BC=a
3
cosa —cosbcosc
COSA = --—--- e 7-—--—-- (5)
sin  sine
cosa-cos cosc
sin sinc
6) AB C :
3. , (.7
. «ATnac Mupa» 102- 3 s
, : A
'(38 ,12,1° ) : B !
' (38,16° , 155° ) C !
'(36,74° , 151° ) :
P
12,1°
15,1°
T
AP=90°-38° = 52° APB = 155°-121° = 34°
BP =90°-38,16° = 51,84° ZCPB= 15,5°- 15,I°=0,4°
CP =90° - 36,74° = 53,26° APC=151°-12,1°= 3°
! ABC AC.CB AB
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1 cosAB = cos/IPcosAP +sin sinAPco0s3,4° = cos52°co0s51,84° + sin 52°sin51,84°c0s3,4° =
=0,99890561 AB = arccos0,99890561 = 2,6808041°
2.coSAC = cos APcosCP + sin APsSinCPcosAPC = c0s52°c0553,26° + sin52°sin53,26°c0s3° =
=0,99889281 AC U larccos0,99889281 = 2,6964557°
3. cosBC =cosCPcosBP+sinCPsinPPcosCPP=c0s53,26°c0s51,84°+ sin53,26°sin51,84°c0s0,4° =
=0,99967768 BC = arccos0,99967768 = 1.4547246°

ABC , (5)

2 No cosAB - cosCAcosCB ¢0s2,6808041°-c052,6964557°-cosl,4547246
1 c0SZACB = - — — oo = =
sin CAsinCB  § sin 2,6964557 +sin 1,4547246

~0,28029269 ZACB =73,722326°_

2. cosZBAC = C0SB C 0,85352742 ZACB = 73,722326°
sin ABsin AC

3. cosZABC = cosAC- cosBAcosBC 1 0,26032605 ZABC = 74,91059°
sin BAsin BC

ABC ( ) ' =R2(A+B+C-7)
A+ B+ GTU= 31,40257° + 73,722325° + 74,91059° - 180° = 0,03549°
A+B+C 7r= 003549 — =6,1941733-10 4

= (6371,1 -6,1941733-10"4 =25145,558 1
25460

254601 25145,558 = 314,442
AS= 314,442/ 25460 = 0,012
0,012*100% = 1,2%
1.2%:

Pestome

3a[34n NPVKM3AHOTO XapaKTepa Bbi3bIBAIOT Gonblioi MHTEPEC YYALLMXCA K MaTemaTuke. Llenb [aHHoi
CTaTbW,- UCTIONb3Ys MOHSATAS 1 POPMYJIbl CHEPUUECKOM FeOMETPUN,- BBIMUCTTL PSIL, FeorpaduecknX BeMUMH,
3aBE/I0MO 3Hasl reorpatiueckyie KoopavHaTbI TOHeK.

1.AHaporioB K. OkyrnHcH A.K.,  Kypc TpuroHometpum. “ MpocselueHne” . MockBsa, 1967T.
21Utr. , , , 1949
3.ATrac Mvpa. [M1aBHOe yrpag/ieHvie reoagsnn 1 kapTorpadwn npy CoHeta.myHncTpoB CCCP, Mockea, 1985r.
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